Van & Truck
Cargo System

® Vantech USA www.vantech.us

,—ﬁ-

Vs

PRODUCT INFO

REQUIRED TOOLS

Part #: ROH324-36W
System: Roller

Material: Aluminum

Fitment: H3 Series Systems
Color: White Plates

Roller Bar is Silver

1/2” Wrench

‘3@@

3/16” Allen Key Wrench

\
(:fi J




PART #

DESCRIPTION QTY ITEM

ITEM NOT DRAWN TO SCALE

B117 5/16" X 1" BUTTON HEAD ALLEN BOLT 2 (I

N002 5/16" NUT 6 =

S051 5/16” SINGLE BOLT SLIDER 2 &

Wo08 5/16” X 314 WASHER 8

W02 5/16" LOCK WASHER 8 )
PIN-04 PIN 2 ==
RO09 RISER 2

A310-36 ROLLER CONNECTOR BAR 1
A324-35 ROLLER 1

ROH324 ROLLER PLATE 2




Insert 2x s051 sliders into existing
cross bar

S051

¥

Existing cross bar

Do not fully secure hardware

S051 Existing cross bar

ROH324



Adjust to fit roller

Repeat on opposite side

Adjust riser and secure all hardware



